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Al A

FAN SE2F0
B HASES MEBOIEK
Col: HASZS S2Z0KIV(AZI0II2=S3IH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MES I 777,380 1,019,000 A241,620
= 621,904
Al 185,476
NASE derd iz 777,380 741,500 35,880
= 621,904
Al 155,476
NASE d2s30A(2A2S0HIISSEIA) 777,380 741,500 35,880
= 621,904
Al 185,476
SIS [P L= 777,380 741,500 35,880
= 621,904
Al 185,476
201 Ler=23 | 15,714 14,994 720
= 12,571
Al 3,143
01 AtR2te|HI 12,769 10,227 2,542
Odgt+=H| 6,483
O2250 RN =ZH|
1,923,000& x 1 1,923
= 1,538
Al 385
O2230ERE MMARE FY 4,560
SAEX 20,0003 x99t Ax 123 2,160
= 1,728
Al 432
-ellOld=Eele EU 300,000 «8H 2,400
= 1,920
Al 480
OSZ2s4Altl 2,016
O2eg30gFFy SEt|
8,000 32 +7& 123 2,016
= 1,613
Al 403
O%za0i2d ?E WS
300,000 x4 H«13] 1,200
= 960
Al 240
OSSN E2=5 M
1,500, 0002 x22] * 1= 3,000
= 2,400
Al 600
02250 Mo &=
70,000& *x1E =12 70
= 56




FAN SE2F0
B HASES MEBOIEK
Col: HASZS S2Z0KIV(AZI0II2=S3IH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14
02 S3=gHl 2,945 4,767 N1,822
osE2= & HA 2,945
Oolz220 2BaYR
(430210021~ 128 )+(2,5302 <8024+ 12 )
2,945
= 2,3%
Al 589
202 0o4dl 16,440 2,880 12,560
= 12,352
Al 3,088
01 2L AL 15,440 2,880 12,560
CEEEWICIES VT
20,0003 =3H 3+ 122 2,160
= 1,728
Al 432
02zs0ACIASRA) 2UHEF NI
20,0002 132 x4 * 12 12,480
= 9,984
Al 2,4%
O2AZ2SHACIAHSRA) 2AA=H0HI
200,000 x4 H*1H 800
= 640
Al 160
307 elztol & 746,226 710,346 35,880
= 596,981
Al 149,245
01 22X+ &H| 746,226 710,346 35,880
(OXE=A=10:1:] 743,226,0003 14 743,226
= 594,581
Al 148,645
ollls=s s 500,000 x6H 1 3,000
= 2,400
Al 600




